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1. (a) Unauthorized

2. (a) D R A W I N G       

C Q Z V H M F

-1-1 -1-1-1-1-1

T U R Q U O I S E

U T Q P V N H Q D

-1-1 -1-1 -1-1-1-1-1

Similarly

C O L O R

B N K N Q

-1-1-1-1-1

3. (a) 60,17,12  (17 + 12 + 1) ×2
= 60

62,14,16 (14 + 16 + 1)× 2 = 62

blh izdkj ]
56,15,12  (15 +12 + 1) × 2 = 56

4. (d) E D I C

F G J F

G J K I

H M L L

I P M O

+1

+1

+1

+1

+3

+3

+3

+3

+1

+1

+1

+1

+3

+3

+3

+3

5. (b) Interchangin - ÷ and ×
1 and 3

I. 6 + 4 – 9 ÷ 1 × 3
10 – 9 × 3 = –17

II. 4 ÷ 1 – 3 + 8 × 2
4 – 3 + 16 = 17

6. (a)
G A R

B Y T

V V U

P S V

J P W

+2

+1

+1

+1

-2

-3

-3

-3

-6

-6

-6

-6

7. (c) W P U Q

- 2
+1

M E K F

-2
+1
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B X C Y

+1
+ 1 odd

Z L X M

- 2
+ 1

8. (d) 57– 53 = 53 – 49
4 = 4

 60 – 56 = 56 – 52
4 = 4

 50 – 46 = 46 – 42
4 = 4

 47 – 43 = 43 – 37
4 = 6 (odd)

9. (a) 123, 126, 129, 132, 135 , 139

+3 +3 +3 +3 +3

10. (a) Go through the option

P
+

Q
–

R

11. (c) Mangoes

Potato

Orange 

12. (c)
13. (d) Except option (D), all are

worn in the arms.
14. (c)

15. (a) S W T E P

1 5 4 6 7

  and  K S L F F

2 1 3 6 6 

Then ,K T L E P 

2 4 3 6 7

16. (c)
17. (d) There are 9 rectangles are

in the given figure:-
18. (c)

19. (b)

20. (b)

21. (c) 5 – 3 × 4 = 8 – 3

5 – 12 = 5

– 7 = 5   (False)

22. (b) (15 × 05) + 07 = 82 and

(11 × 07) + 06 = 83

Similarly,

(25 × 02) + 07 = 57

23. (d) South West 

East North

24. (d)
25. (c)

4 8 2       Life is beautiful 

8 7 5       Gold is costly

2 3 6       Ornaments are beautiful

.....(ii)

....(iii)

 life = 4 [from equation (i)]

B-GENERAL AWARENESS

26.(b) Mahatma Gandhi referred

to the Cripps Mission pro-

posal as a “Post dated

cheque from a failing bank”

because it was incomplete

and irrelevant. After this,

Gandhi initiated the Quit

India Movement on August

8, 1942, with the goal of

launching a decisive

struggle against British

rule and achieving full in-

dependence./egkRek xka/h us fØIl
fe'ku çLrko dks ^^Mwcrs gq, cSad dk
mÙkj fnukafdr pSd** dgk] D;ksafd ;g
v/wjk vkSj vçklafxd FkkA blds ckn]
xka/h th us 8 vxLr] 1942 dks Hkkjr
NksM+ks vkanksyu dh 'kq#vkr dh] ftldk
mís'; fczfV'k 'kklu ds f•ykiQ fu.kkZ;d
la?k"kZ vkSj iw.kZ Lora=krk çkIr djuk FkkA

27.(c) Maximum number of judge

including CJI has been fixed

by 34/CJI lesr ttksa dh vf/dre
la[;k 34 r; dh xbZ gSA

28. (a) Tomography, especially a CT

scan, can be used to detect

kidney stones as it provides

images of the inside of the

body. This method clearly

shows the position, size, and

location of the stones in the

kidney, helping doctors in

making accurate diagnosis

and treatment plans./xqnZs dh
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iFkjh (Kidney Stones) dk irk yxkus
ds fy, VkseksxzkiQh dk mi;ksx fd;k tk
ldrk gS] fo'ks"k :i ls lhVh LdSu (CT

scan) dk] tks 'kjhj ds vanj dh Nfo;k¡
çnku djrk gSA ;g fof/ xqnZs esa iFkjh dh
fLFkfr] vkdkj vkSj fLFkfr dks Li"V :i
ls fn•krh gS] ftlls MkWDVj dks lgh
funku vkSj mipkj ;kstuk cukus esa enn
feyrh gSA

29.(d) The Directive Principles of

State Policy provide guidelines

to the government, but they

are not legally binding. Their

purpose is to guide the

government in working

towards an ideal and just

society. These principles were

inspired by the Constitution of

Ireland and are mentioned in

Articles 36 to 51 of the Indian

Constitution./jkT; ds uhfr funs'kd
rRo (Directive Principles of State

Policy) ljdkj ds fy, fn'kk&funsZ'k dk
dk;Z djrs gSa] ysfdu budk ikyu djuk
ljdkj ds fy, ckè;dkjh ugha gSA budk
mís'; ljdkj dks ,d vkn'kZ vkSj U;k;iw.kZ
lekt dh fn'kk esa dke djus ds fy,
ekxZn'kZu çnku djuk gSA ;s fl¼kar vk;jySaM
ds lafo/ku ls çsfjr gSa] vkSj Hkkjrh;
lafo/ku ds vuqPNsn 36 ls 51 esa fn, x, gSaA

30.(b) Excessive alcohol

consumption can lead to

cirrhosis, a disease where

liver cells begin to

deteriorate, and the liver

stops functioning properly.

This results in reduced liver

functionality, which can

cause accumulation of toxins

in the body, digestive issues,

and obstruction in blood flow./

vR;f/d 'kjkc ds lsou ls lhjkslhl
(Cirrhosis) uked jksx gks ldrk gS]
ftlesa yhoj dh dksf'kdk,¡ u"V gksus yxrh
gSa vkSj yhoj lgh rjhds ls dk;Z djuk can
dj nsrk gSA blls yhoj dh dk;Z{kerk ?kV
tkrh gS] tks 'kjhj esa fo"kkDr inkFkks± ds

lap;] ikpu leL;kvksa vkSj jDr çokg
esa ck/k mRiUu dj ldrh gSA

31.(d)The Bureau of Indian

Standards (BIS) is

responsible for the national

measurement of all

fundamental units in India.

BIS was established on

November 26, 1986, under

a law passed by Parliament.

It is a 25-member

institution with the goal of

developing and certifying

standards in India./ Hkkjrh;
ekud C;wjks (BIS) }kjk Hkkjr esa lHkh
ewy bdkb;ksa dk jk"Vªh; ekiu fd;k
tkrk gSA BIS dh LFkkiuk 26 uoacj]
1986 dks laln }kjk ikfjr ,d dkuwu
ds rgr gqbZ FkhA ;g ,d 25 lnL;h;
laLFkk gS] ftldk mís'; Hkkjr esa ekudksa
dk fodkl vkSj çek.khdj.k djuk gSA

32. (b) A gigabyte (GB) consists of

10,48,576 kilobytes (KB).

Both gigabytes and kilobytes

are units used to measure

data storage capacity. 1 GB

is equivalent to 1024

megabytes (MB), and 1 MB

is equivalent to 1024

kilobytes./ 1 xhxkckbV (GB) esa
10,48,576 fdyksckbV (KB) gksrs
gSaA xhxkckbV vkSj fdyksckbV nksuksa gh
MkVk Le`fr dh {kerk dks ekius ds
;wfuV gSaA 1 xhxkckbV esa 1024 esxkckbV~l
(MB) gksrs gSa] vkSj 1 esxkckbV esa
1024 fdyksckbV gksrs gSaA bu ;wfuV~l
dk mi;ksx daI;wVj] LekVZiQksu] vkSj
vU; bysDVªkWfud midj.kksa dh MkVk
LVksjst {kerk dks ekius ds fy, fd;k
tkrk gSA

33.(a) A cockroach (Blattodea) is

an insect from the

arthropod group, which

uses three pairs of legs to

move. They are primarily

found in tropical climates./

frypêðk (dkWdjksp) vkFkkZsiksMk la?k

dk dhV gS] tks pyus ds fy, 3 tksM+s iSj
dk bLrseky djrk gSA ;g Å".k dfVca/
h; tyok;q esa T;knk iSnk gksrs gSA

34. (b) Rajiv Gandhi’s memorial is

located at Veer Bhumi in

Delhi, which was built in

1991. It is near Raj Ghat,

where Mahatma Gandhi’s

memorial is located. Rajiv

Gandhi was assassinated on

May 21, 1991, on the orders

of LTTE leader Prabhakaran./

jktho xka/h dh lekf/ ohjHkwfe fnYyh esa

fLFkr gS] ftldk fuekZ.k 1991 esa gqvk FkkA

;g jkt?kkV] tgka egkRek xka/h dh lekf/

gS] ds ikl fLFkr gSA jktho xka/h dh gR;k

fyêðs ds çeq• çHkkdj.k ds vkns'k ij 21

ebZ 1991 dks dh xbZ FkhA
35.(d) In the Rajya Sabha, members

are sent based on the

population of each state.

Currently, Uttar Pradesh has

the highest number of

members, with 31. The

number of members is

determined based on the

1971 census and is

periodically revised./jkT;lHkk esa
çR;sd jkT; ls muds tula[;k ds
vk/kj ij lnL; Hksts tkrs gSaA orZeku
esa mÙkj çns'k ls jkT;lHkk esa lcls
vf/d 31 lnL; gSaA bu lnL;ksa dh
la[;k 1971 dh tux.kuk ds vk/kj ij
fu/kZfjr dh xbZ gS] vkSj ;g la[;k le;
ij la'kksf/r gksrh jgrh gSA

36.(c) The headquarters of the

Theosophical Society is

located in Adyar (Tamil

Nadu). Mrs. Annie Besant

was one of its prominent

members, and she organized

the Home Rule Movement.

Annie Besant actively

participated in the Indian

freedom struggle and

advocated for self-rule for

Indians./fFk;kslkWfiQdy lekt dk
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eq[;ky; vM~;kj (rfeyukMq) esa fLFkr
gSA Jherh ,suh cslsaV blds çeq• lnL;
Fkha vkSj mUgksaus gkse:y vkanksyu dks
laxfBr fd;kA ,suh cslsaV Hkkjrh; Lora=krk
laxzke esa lfØ; :i ls 'kkfey gqbZa vkSj
Hkkjrh;ksa ds fy, Lo'kklu dh ek¡x dks
çeq•rk ls mBk;kA

37.(b) The Tropic of Cancer, located

at 23½° North latitude,

passes through eight Indian

states. These states are

Gujarat, Rajasthan, Madhya

Pradesh, Chhattisgarh,

Jharkhand, West Bengal,

Tripura, and Mizoram. The

Tropic of Cancer is situated

23½ degrees north of the

equator./23½° mÙkjh v{kka’k ftls
ddZ js•k (Tropic of Cancer) dgrs gSa]
Hkkjr ds 8 jkT;ksa ls gksdj xqtjrh gSA ;s
jkT; gSa% xqtjkr] jktLFkku] eè;çns'k]
NÙkhlx<+] >kj•aM] if'pe caxky] f=kiqjk
vkSj fetksjeA ddZ js•k i`Foh ds Hkweè;
js•k ls mÙkjh fn'kk esa 23½ fMxzh ij
fLFkr gSA

38. (d)The main reason for the rise

in unemployment in India is

rapid population growth. With

population growth, the

creation of employment

opportunities is not

proportional, leaving many

young people unemployed.

This situation is also

contributing to an increase

in poverty./Hkkjr esa csjkstxkjh c<+us
dk eq[; dkj.k tula[;k esa rhoz o`f¼
gSA tula[;k o`f¼ ds lkFk jkstxkj ds
voljksa dk l̀tu vuqikfrd :i ls ugha
gks ik jgk gS] ftlls cM+h la[;k esa ;qok
csjkstxkj jg tkrs gSaA ;g fLFkfr xjhch esa
Hkh o`f¼ dk dkj.k cu jgh gSA

39.(d) Chennai doesnot have a NSG

Camp even after 26/11

Mumbai attacks./psUubZ esa dksb Z
NSG Camp ugha gSaA

40.(b) Per capita income = (Gross

Domestic Product) / (Total

population of the country)/

çfr O;fDr vk; ¾ (dqy ldy ?kjsyq
mRikn )@(ns'k dh dqy tul¡[;k)

41.(c) Samuel Colt was an

American inventor who

invented the first revolver in

1836./lSeqvy dksYV ,d vesfjdh
vkfo"dkjd Fks] mUgksaus 1836 esa igyh
fjokYoj dk vkfo"dkj fd;k FkkA

42.(c) The President of India takes

the oath of office in front of

the Chief Justice of India.

The term of office for the

President is 5 years, which

is determined through

elections. During this period, if

there are serious charges

against the President, they

can be removed through

impeachment./Hkkjr dk jk"Vªifr
vius in dh 'kiFk Hkkjr ds eq[;
U;k;k/h'k ds lkeus ysrk gSA jk"Vªifr dk
dk;Zdky 5 o"kks± dk gksrk gS] ftls pquko
}kjk fu/kZfjr fd;k tkrk gSA bl chp]
;fn jk"Vªifr ds f•ykiQ xaHkhj vkjksi
gksrs gSa] rks mls egkfHk;ksx ds ekè;e ls
in ls gVk ldrs gSaA

43.(c) Bombay High is an

important industrial island

located in the Arabian Sea

near the Mumbai coastline.

It is a signif icant oil

extraction site, operated by

private companies. Bombay

High is one of India’s major

oilproducing regions./ckWEcs gkbZ
vjc lkxj esa fLFkr ,d egRoiw.kZ
vkS|ksfxd }hi gS] tks eqacbZ leqæ rV ds
ikl fLFkr gSA ;gk¡ ls rsy dk fu"dklu
fd;k tkrk gS] vkSj ;g futh daifu;ksa
}kjk lapkfyr gksrk gSA ckWEcs gkbZ Hkkjr
ds çeq• rsy mRiknu {ks=kksa esa ls ,d gS

44. (c) The Global Hunger Index is

calculated based on four

indicators:

• Undernourishment

• Child stunting

• Child wasting

• Child mortality

oSf'od Hkw• lwpdkad dh x.kuk pkj
ladsrdksa&dqiks"k.k] cPpksa dk ckSukiu]
cPpksa esa vo:¼ fodkl vkSj f'k'kq èR;q
nj ds vk/kj ij dh tkrh gSA

45(c)Veda/osn      &       Priest/iqtkjh
Rigveda/½Xosn  - Hotri/gksr`

Samveda/lkeosn  - Udgatri/mn~xk=kh

Yajurveda/;tqoZsn - Adhvaryu/

vèo;Z q

Atharvaveda/vFkoZosn- Brahman/

 czkã.k

46.(d) Shri Gyanesh Kumar took

charge as the 26th Chief

Election Commissioner of

India on 19th February 2025.

He is a 1988 Batch Kerala

Cadre Officer of the Indian

Administrative Service. He

has replaced Rajiv kumar as

the new CEC./Jh Kkus'k dqekj us 19

iQjojh 2025 dks Hkkjr ds 26osa eq[; fuokZpu
vk;qDr ds :i esa dk;ZHkkj laHkkykA os Hkkjrh;
ç'kklfud lsok ds 1988 cSp ds dsjy dSMj
vf/dkjh gSaA mUgksaus jktho dqekj dh txg u,

lhbZlh ds :i esa dk;ZHkkj laHkkyk gSA

47.(a) The ‘Global IndiaAI Summit’ was

organized on July 3 and 4, 2024

in New Delhi, India. The Summit

focused on key pillars of the AI

ecosystem, including Compute

Capacity, Foundational Models,

Datasets, Application

Development, Future Skills,

Startup Financing, and Safe

and trusted AI./ ^Xykscy bafM;k
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,vkbZ lfeV* dk vk;kstu 3 vkSj 4
tqykbZ 2024 dks ubZ fnYyh] Hkkjr esa
fd;k x;k FkkA bl lfeV esa ,vkbZ
ikfjfLFkfrdh ra=k ds çeq• LraHkksa ij
è;ku dsafær fd;k x;k] ftlesa dEI;wV
{kerk] ekSfyd ekWMy] MsVklsV] ,fIyds'ku
fodkl] Hkfo"; ds dkS'ky] LVkVZvi
foÙkiks"k.k vkSj lqjf{kr ,oa fo'oluh;

,vkbZ 'kkfey gSaA

48.(b) Recently released Bollywood

movie ‘ chhava ‘ is based on

the life of Chatrapati

Sambha ji Maharaj who was

son and successor of the

great Shiva ji Maharaj ,

founder of Swarajya./gky gh esa

fjyht gqbZ ckWyhoqM fiQYe ^Nkok* N=kifr
laHkkth egkjkt ds thou ij vk/kfjr gS] tks
egku f'kokth egkjkt ds iq=k vkSj mÙkjkf/

dkjh Fks] ftUgksaus LojkT; dh LFkkiuk dhA

49.(a) Notre dame Cathedral, Paris

has recently reopened after

renovation work whose

reopening ceremony was

attended by Donald Trump

(then President elect). Notre

dame cathedral is a famous

church and tourist

destination renowned

throughout the world for its

beauty./uksVªs Mse dSFksMªy] isfjl gky

gh esa uohuhdj.k dk;Z ds ckn fiQj ls
•ksyk x;k gS] ftlds mn~?kkVu lekjksg
esa MksukYM Vªai (rc ds jk"Vªifr&fuokZfpr)
us Hkkx fy;k FkkA uksVªs Mse dSFksMªy ,d
çfl¼ ppZ vkSj i;ZVd LFky gS] tks
viuh lqanjrk ds fy, fo'oHkj esa çfl¼

gSA

50.(a) Recently in “mann ki baat”

Prime Minister Shri

Narendra Modi has launched

a massive campaign against

obesity in India. According to

latest National Family

Health Survey (NFHS) report

about 25% of Indians are

suffering from obesity.  He

has nominated prominent

individuals to champion the

cause of reducing edible oil

consumption as oil

consumption is the leading

cause of obesity in our

country./gky gh esa ^eu dh ckr*

esa ç/kuea=kh Jh ujsaæ eksnh us Hkkjr esa
eksVkis ds f•ykiQ ,d fo'kky vfHk;ku
'kq: fd;k gSA uohure jk"Vªh; ifjokj

LokLF; loZs{k.k (NFHS) fjiksVZ ds

vuqlkj] yxHkx 25» Hkkjrh; eksVkis ls
xzLr gSaA mUgksaus •k| rsy dh •ir dks
de djus ds mís'; ls çeq• O;fDr;ksa
dks bl vfHk;ku dk usr̀Ro djus ds fy,
ukfer fd;k gS] D;ksafd gekjs ns'k esa
eksVkis dk eq[; dkj.k •k| rsy dk
vR;f/d lsou gSA

C - QUANTITATIVE APTITUDE

51. (a) We can writs
2 = (+) + (– )
multiplying both sides with
tan
tan 2 = tan (+) + tan(
– )/1– tan(+) . tan(–

tan 2= 
P Q

1 PQ





52. (b) 2 years 1200
4 years  1600
Interest of 2 years
1600~1200 = 400
Principal =1200 - 400 - 800

Rate = 
400 / 2

100
800



= 25%
53. (c) 99  × 9

we check the divisibility
with 9
Possible value of (x+y)
x + y =1 – (i)
x +y = 10 – (ii)
Now, we check the divis-
ibility with 11 Possible
value of (x–y)-
x - y = 3 - (iii)
y - x = 8 - (iv)
Possible value of (x, y)
x = 2, 1
y = - 1,9
Value of (x + y + 7) = 1 + 9 +
7 = 17

54. (b) In ADI and  CDB
Now,

 ADC +ADB + CDB =
360o

 150o + 2× CDB = 360
 CDB = 210/2 = 1050

55. (a) the sum of the Interior
angles of the triangle  is
180o

Given 
oB C

55
2

 


 C = 110
 A+B+ c = 180o

A = 180o - 110 = 70o

56. (d) x = 2-21/3 + 22/3

x - 2=22/3  – 21/3

Cubing both sides
(x-2)3 = (22/3 – 21/3 )3

x3 – 8 – 3 × 2 × x(x–2) = 22 –
2 – 3× 22/3 × 21/3 (22/3 – 21/3)

 x3 – 8– 6x2 +12x = 2 – 6 (x –
2)

 x3 – 8 – 6x2 +12x = 2 – 6x +
12

 x3 – 6x2 + 18x = 14 + 8 = 22
57. (c)



cos( A).cot( A)cos( A)
2

3tan( A) tan( A)sin(2 A)
2



 

  

  


( cosA)( tanA)cosA

tanA( cot A)( sinA)

 

 


cosA.CosA

cosA
cot A.8inA


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58. (b) (a+b+c) (a2 + b2 + c2 - ab - bc
- ca) = a2 +b3 + c3 - 3abc

 5(a2 + b2 + c2 - ab - bc - ca)=
85 – (3 ×25)
a²+ b2 + c2 - ab - bc - ca = 2

59. (b)  According to the question
110%  = 66000
1% = 600
100% = 60000
required Sp= 60,000×120%
= 72000

60. (a) Let 10th inning runs = x
According to the question
58 × 9 + x = 61 × 10
522 + x = 610
x = 610 – 522 = 88

61. (c) mean Proportional = ab

= 36 169

= 6 × 13 = 78
62. (a) According to the question

Kajal × 30 = vivek × 27+
Kajal ×10
Kajal × 30 = Vivek × 27

kajal 9

vivek 10


total work = 9 × 30 = 270
total efficiency = 9 +10=19
Number of days required to
complete the work together

= 
270

19

63. (d) LCM – 17×16×4
= 1088

64. (b) According to the question

CP 100 D

MP 100 P






528 100 12

MP 100 18






MP = 
528 118

88


 = 708

65. (b) Putting the values in
equestion

 2abc/9
 × (–12)×(–6) × 18]/9
 × 4 = 288

66. (c)
5

2
= 0.4,  

6

5
= 338.0 , 

11

12
=

0.916, 
8

7
= 0.875

therefore largest fraction =

11

12

67. (a) Diagonal of square base =

12 2  cm

 Side = 12 cm

Height = 
2

212
 = 26

 Volume  = 
3

1
× Area of

base × height

= )26()12(
3

1 2 

= 26144
3

1


= 2288 cm³

68. (c) Mango, Banana, Apple
and Papaya.

69. (d)

70. (a) [By median-centroid
property]

71. (c) Given that: -
At 12 noon:-
A's speed = 8 km/hr.
Distance travelled is one hr
= 8 km
At 1 noon
B's speed = 7 km/hr.

Relative speed = (8 + 7) [
travelling towards each
other]
= 15 km/hr.

Distance = 68 km - 8 km =
60 km
Time to cross each other =

15

60
 = 4 hr.

After 4 hrs they will meet.
Meet at 5 pm.

72. (d) Average age of four sisters=
7 yrs.

 sum of their ages = 4 × 7
= 28 yrs.

Now, when mother's age
included,
New average = 7 + 6 = 13
yrs.

 Sum of their  ages = 13 ×

5 = 65 yrs.

 Mother's age = 65 - 28
  = 37 yrs.

73. (c) Equivalent discount :-

  200

2025
20

2

25 


 12.5+ 20 – 2.5

= 32.5 – 2.5 = 30%
74. (c) Using formula:-

  M.P (1 – % d) = C.P (1+ %

g) = S. P

  M.P 
10

1
100

     = 450











100

20
1

   M.P 








100

90
 = 450 









100

120

 M. P = 
90

120450 
 = ` 600

75. (c)
1

111 TDM

W  =  
2

222 TDM

W

  
W

xxx 
 = 

W

D2yy

 2D  = 2

3

y

x

D-ENGLISH COMPREHENSION

76.  (d) “slow” should be replaced by

its adverbial form “slowly” to

modify the verb “crept”

correctly. Adverbs are used

to describe verbs, and

“crept” requires the adverb

“slowly” to indicate the

manner of creeping.

77. (d) Knock over (fxjk n su k)
means to cause something

to fall or overturn, usually

unintentionally or with

force.

Knock out (ekj fxjkuk)
means to hit someone or

something so hard that

they become unconscious
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or unable to get up again for

a while.

78. (b) Instinctive (LokHkkfod) refers

to a natural, automatic

response or reaction.

Voluntary (LosfPNd) refers to

an action done willingly or

by choice

Insightful (xgjh le> j[kus okyk)
refers to having deep

understanding or

perception

Shrewd (prqj) refers to being

astute or sharp in judgment

Knock inside (Hkhrj Bsyuk)
means to push or force

something inside.

79. (d) Furtive (x q Ir)  means

something done in secret or

hidden, often to avoid

attention. Its opposite is

Truthful (bZekunkj), which

means being honest, open,

and direct.

Foxy (pkykd) means clever

or cunning, often implying

a deceptive nature.

Shady (lafnX/) refers to

something suspicious or

dishonest.

Futuristic (Hk fo ";oknh)
refers to something focused

on the future.

80. (c) The correct spelling is

“reconsider”.

“Reconsider” means to

think about something

again, especially to change

a decision.

81. (d)  A “Chirographer” (gkFk ls fy[kus
e s a  ekfgj) is an expert in

writing by hand or skilled in

handwriting.

Obstetrician (fMyhojh djkus
o kyk M k W DVj) : A doctor

specializing in childbirth

and pregnancy.

Funambulist (jLlh ij pyus
okyk) : A tightrope walker.

Endodontist (nkar ds van:uh
fgLlksa dk MkWDVj) : A dentist

specializing in the

treatment of dental pulp and

root canals.

82. (3) She kept a lot of rules in her

life, due to which she is

flourishing today.

The article “a” is correctly

used before “lot of rules”

because “lot” starts with a

consonant sound and

indicates an indefinite

quantity. Articles are used

to modify nouns, and “a” is

the appropriate here.

83. (d) The subject of the sentence

is “Mr. Billu,” which is a

singular, third-person

pronoun (he). Therefore, the

verb should be “has,” not

“have.”

The correct phrasing is “has

no ulterior motive” or “has

no hidden motive.”

“Interior” is also not the

right word to use here;

“ulterior” or “hidden” is

more appropriate when

discussing motives.

84.  (c) Active : Historians

(subject) +  tell (verb) + us

(object) how this country

was divided into three.

Passive: We (object in

active, subject in passive)

+ are told (verb in passive

form)  + by historians

(agent) how this country

was divided into three.

85. (d). Passive Voice: Why +

Auxiliary Verb (are) +

Object (you) + Past

Participle (called) + Agent

(by her)?

Active Voice: Why +

Auxiliary Verb (does) +

Subject (she) + Base Verb

(call) + Object (you)?

86. (2) correct order is OSRQP.

(O) Starts with “attitude is,”

introducing the subject.

 (S) Defines attitude as “a

hypothetical postulate.”

 (R) Adds detail by stating

“which implies.”

(Q) Describes what it

implies: “a broad-based

behaviour.”

(P) Completes the thought

with “or tendency in

individuals.”

87. (c) “Elegance” (lkSan;Z vkSj lqanjrk)
means refined grace,

style, or sophistication.

Its opposite is

“Gracelessness” (dHkh Hkh
fcuk vkd"kZ.k ;k lqanjrk ds),

which means lacking

elegance, charm, or

grace.

Simplicity (ljyrk) :
Refers to being simple or

plain.

Magnificence (HkO;rk):

Refers to grandeur or

splendor.

Glory (efgek): Refers to

great beauty or fame

88. (c) In indirect questions, the

word order follows that of

a statement, without

auxiliary verbs like

“does.” The correct

structure is “where she

resides,” where “resides”

(third-person singular

verb) correctly matches

the subject “she.”

89. (b) The correct spelling is

“colloquial,” which means

informal or

conversational, typically

used in spoken language

or casual writing.

90. (b) The correct order is

CAEBD:
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C: “He has discovered” (starts

with the subject and verb),

A: “new facts and advanced”

(provides additional

information about what

was discovered),

E: “new arguments”

(completes the object of

what was discovered),

B: “but my opinion is”

(introduces a contrast),

D: “unchanged” (completes

the thought about the

opinion).

91. (a) “Consensus” (lkewfgd lgefr)
means a generally

accepted agreement or

collective opinion among a

group of people.

92. (b) “Compunction” (i'pkrki)
refers to a feeling of guilt

or moral hesitation that

prevents or follows a bad

action. Similarly,

“Scruples” (lansg ;k
fgpfdpkgV), which refers to

a sense of doubt or

uneasiness about the

morality of an action.

Scepticism (lansg): Refers

to doubt or disbelief.

Grief (nq[k): Refers to deep

sorrow.

Punishment (ltk): Refers

to a penalty for an offense.

93. (c)  “A nig-nog” refers to

someone who is

considered foolish, silly, or

lacking common sense.

Watchful (lko/ku): Refers

to being alert or attentive.

94. (d) “Up a creek without a

paddle” means to be in a

difficult, troublesome, or

serious situation without

any means of help or

resolution.

95. (c) “Whose” is the correct word

to use here as it is a

possessive pronoun

referring to the “waste

hierarchy” and its aim. It

indicates possession or

association.

Which (tks): Refers to

things or objects

Whom (ftls): Refers to the

object of a verb or

preposition, not suitable

for indicating possession.

96. (b) Major

97. (b) impetus

98. (b) safety

99. (d) ensuring

100. (a) increased
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